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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-3 0
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G3-3

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

06:35 263 100.0 2.16 F BRi%e06:35 BE1 (RAERE)
07:35 263 100.0 2.16 =] {BRi%e07:35 B (REAERSE)
09:10 263 100.0 2.16 =] Ri%e09:10 B (RFA{ERER)
10:50 263 100.0 2.16 = RRi80@10:50 Bah (RAEESE)
12:15 263 100.0 2.16 =] BRigei12:15 B (GREAERSE)
13:35 263 100.0 2.16 =] {Ri%e13:35 B (RFAERE)
14:45 263 100.0 2.16 5| {Ri%e14:45 B3 (RAERSE)
16:00 263 100.0 2.16 =l RRiB016:00 Bz (RFAKEE)
17:25 263 100.0 2.16 =] Ri%e17:25 B (REAERSE)
21t 2367.0 (9%) 900. 0 IHKEC: 2250, PH: 6.5

ERGERBTC R IR AR B (263 vs 175.0))

2RI\ L PRIERE150. 0 ml.
MERFEREH BYIE S, i &3 &PHA B 46.5,10.4,6.5, REKX
REREERIPH (10.36) 5iZEPH (6.5) REK K, HHRE
BEXREBIPH (10.36) 5FMPH (6.5) REK K, HHRE

REE NS K RPH 6.5

#H[ERECE (2567.0 vs 3347.0) RS
REVE NS KFIREC 2250.0
LORGEBIPH (10.3) 5i&%E{E (6.5) RERK, BERE.
LORGEBIPH (10.3) S5HREIEN (6.5) RERK, HRE.
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G3-3

BYiE) | GEBIATK () | EHME (EH/H) | EBRERE (B/R) | XK EE

07:05 207 100.0 2.16 = {Rig@07:05 B (RAAERSE)
08:05 207 100. 0 2.16 F  1BRi%e08:05 Bzl (RAEREE)
09:35 207 100.0 2.16 = {RRi8009:35 Bz (RAEESE)
11:45 207 100.0 2.16 E BRige11:45 Bz CGRAEESE)
13:30 207 100.0 2.16 E BRi%e13:30 Bz (GRAERESE)
14:55 207 100. 0 2.16 E| {Rige14:55 B3h (RE{EREE)
16:30 207 100.0 2.16 = {Ri%016:30 B3 (RAERSE)
29t| 1449.0 (%) 700.0 EGHIKEC: 2250, PH: 6.5

EREBRIER L TR (0.5 vs 0.56), FIREA S MEENEBEESKERE

LOREBIRTHC R IR R IE Y (259 vs 172.0))

BRI\ EPRERE150. 0 ml.
MERFEREHEYIRE, M & 3E&PHA B46.5,10.3,6.5, RERX
REFREBIPH (10.34) 5i87EPH (6.5) RER K, HRE
BEXREBIPH (10.34) 5FMPH (6.5) REK K, HRE

RV S RIFERPH 6.5

#EEIRECE (2668. 0 vs 3557.0) RS
FREVE Y 4 KiFHREC 2250. 0
LRGEBIPH (10.4) 5i&FEE (6.5) RERKK, BRE.
LORGEBIPH (10.4) S5#REIEN (6.5) RERK, BRE.
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G3-3

BYE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

08:25 203 100.0 2.16 |Z=| {Ri%e08:25 Bzl (REAEZEHSE)
10:50 203 100.0 2.16 |Z=| {Ri%e10:50 Bz (REAEZBE)
13:50 203 100.0 2.16 |/hM| {BRige13:50 Bah (KAEESS)
23t 609.0 (3%) 300.0 3EHKEC: 2430, PH: 6.5

EORGER BT R IR AR B E Y (203 vs 172.0))

PRIASLPRIERE118.0 ml.

MERMEAEHB9IRE, i B RPHA B 46.5,10. 4, 6.5, REWRK
RERERIPH (10.35) 5i&EPH (6.5) REK K, HFRE
BEXREBIPH (10.35) 5FMPH (6.5) REK K, HRE

REE NS K RPH 6.5

T [EKECE (2652.0 vs 3815.0) 1R
FRAVE Y S K FHREC 2430. 0
LORGEBIPH (10.4) 5i1&EE (6.5) WERK, BRE.
LEORGERIPH (10.4) S5iRBE (6.5) REK K, HEE.
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